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At1=0, vg() switches instantly from —v, to vo.

a) Write the state-variable equations for the circuit in terms of the state vector:
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b) Evaluate the state vector at r = 0t.
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For Lezp; we have an [-divider:
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-

E'_l" Rl

Rr-'r-El E.] +.'?1

Our =tate- S pace Eg'.'ns:

ﬂ; = ,J._['I..I'E-H L:E!EI 'i-'h_&"'ll"z Ez]
cﬁ“l'i'_'- .ﬁr"!'l"::z RJ'-'--"?E

{;L]..-'_i 1
At <,

i

L'-1

dvy = L [~iR, +1.fn~1f=1)
At Cq R, tR; R+ k5

I;;.j Becquse e are .:qulihﬂ. with state
variables, +heir values are +he
same at 4=0" ar aft £=po".

At .||'._.=|5- L= H_JLP"-E‘- ':: #ﬂﬁ’lﬂl = opred.
'l ok fop noole sim:r: f=0 ':.'zm Ao w-drop

across R
Lrt Ri ﬁz Mote: U.;I = = W
+ r+
¥y ~Vo Va for L0,




MNe current Flows, so +Lhe Lrnf"fﬂj'e
across R, and R, is O V.
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